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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma Engineering Sem. - V - Examination – June- 2011 

Subject code: 331902 

Subject Name: THERMODYNAMICS 
Date:20/06/2011                      Time: 02:30 pm – 05:00 pm 

         Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is Authentic 
 

Q.1 (a) Draw a neat sketch of open system and closed system and explain with two examples. 07 

 (b) Define energy. Write the similarities and differences of heat energy and work energy. 07 

    

Q.2 (a) Explain Quasi-Static process with neat sketch. 07 

 (b) Draw sketch and write the types of given system boundary 

(1) Nozzle     (2) Piston cylinder 

(3) Reciprocating air compressor  (4) Furnace 

07 

  OR  

 (b) Write a condition for steady flow. Derive a work equation W = - ∫ v dp for open system. 07 

    

Q.3 (a) Explain first law of thermodynamics and derive general energy equation. 07 

 (b) A gas turbine pass air flow-rate is 4.5 kg/sec. Inlet velocity of air is 200 m/sec and 

enthalpy 6699 KJ/kg, outlet velocity of air 150 m/s and enthalpy 5460 KJ/kg. System 

reject heat 50.4 KJ/kg in the surrounding then find the value of power generated by 

turbine. 

07 

  OR  

Q.3 (a) Prove that the entropy is a point function. 07 

 (b) One engineer challenge that he made one engine which generates 4.4 kW power during 

engine testing. An engine consumes 0.5 kg fuel per hour and the calorific value of fuel is 

44000 KJ/kg. During the cycle engine reach maximum temperature 1500° C and 
minimum temperature 400° C. Find the challenge is true or false. 

07 

    

Q.4 (a) Explain (1) Boyle’s law (2) Charle’s law. 07 

 (b) Prove PV
γ
 = C; (for isentropic process) 07 

  OR  

Q. 4 (a) Derive air standard efficiency for diesel cycle. 07 

 (b) One engine cylinder bore is 150mm and stroke is 225mm working on Otto cycle. 

Clearance volume of engine is 1250 cm
3
; find the air standard efficiency of Otto cycle. 

07 

    

Q.5 (a) Define the following terms: 

(1) Compressed liquid   (2) Saturated liquid 

(3) Wet steam    (4) Dry saturated steam 

(5) Degree of super heat   (6) Super heated steam 

(7) Dryness fraction of steam. 

07 

 (b) Explain separating calorimeter with neat sketch. 07 

  OR  

Q.5 (a) Explain Mollier diagram. 07 

 (b) Define Two phase system. Explain triple point diagram of H2O.  07 
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��-1    અ �વ�છ આ�િતૃ  દોર� ઓપન િસ�ટમ અને �લોઝ િસ�ટમના બે ઉદાહરણ આપી સમજવો. 07 

 બ એનજ'ની (યા*યા આપો. હ�ટ એનજ' અને વક, એનજ' વ�ચે. ંસરખાપ1 ંઅને તફાવત લખોુ ુ . 07 

    

��-2    અ કૌઝી-�ટ6ટ�ક �78યા �વ�છ આ�િતૃ  સાથે સમ:વો. 07 

 બ નીચે આપેલી િસ�ટમની બાઉ;<� દોર� તેનો �કાર લખો. 

(1) નોઝલ     (2) િપ�ટન િસ=લ>ડર  

(3) ર6િસ�ોક67ટ>ગ એર કોA�ેસર  (4) ફનBસ 

07 

  અથવા  

 બ �ટ6ડ� Cલો માટ6ની શરતો લખો. W = - ∫ v dp વક,. ંસમીકરણ ઓપન િસ�ટમ માટ6 તારવોુ . 07 

       

��-3    અ થમFડાયનેમીકસનો �થમ િનયમ સમ:વો અને જનરલ એનજ' સમીકરણ તારવો.   07 

 બ એક ગેસ ટબા,ઇનમા ંહવા 4.5 kg/sec ના દરથી પસાર થાય છે. હવા નો દાખલ થતી વખતે વેગ 

200 m/sec છે અને એ;થાHપી 6699 KJ/kg છે. બહાર નીકળતી વખતે હવાનો વેગ 150 m/s છે. 

તથા એ;થાHપી 5460 KJ/kg છે. િસ�Jમ માથંી તેના સરાઉ;ડKગમા ં50.4 KJ/kg ઉLમા બહાર ફકયા M

તો ટબા,ઇન Nારા ઉOપP થતા પાવર. ંQHૂય શોધોુ . 

07 

  અથવા  

��-3    અ સા=બત કરોક6 TUોપીએ પોVટ ફ�શન છેં . 07 

 બ એક TWનીયર એવો દાવો કર6 છે ક6 તેણે બનાવેલ એ;Wન ટ6�ટ દરAયાન 4.4 kW પાવર ઉOપP 

કર6 છે આ એ;Wન દર કલાક6 0.5 kg બળતણ વાપર6 છે. Xની ક6લોર�ફ�ક વેHY ુ44000 KJ/kg છે. 

સાયકલ દરAયાન વZમા ંવZ તાપમાન ુ ુ 1500° C અને ઓછામા ંઓ[ તાપમાન 400° C  ન\ધવામા ં

આવે છે. આ દાવો સાચો છે ક6 ક6મ તે શોધો. 

07 

    

��-4    અ સમા:વો (1) બોઇલનો િનયમ (2) ચાHસ,નો િનયમ. 07 

 બ આઇસ̂Uોપીક �78યા માટ6 સા=બત કરો ક6 PVγ
 = C. 07 

     અથવા  

��-4    અ ડ�ઝલ સાયકલ માટ6. ંએર �ટાડંડ, એફ�સીયસંી. ં_ ૂ̀  તારવોુ ુ . 07 

 બ એક ઓટો સાયકલ પર કામ કરતા એ;Wન િસ=લ>ડરનો (યાસ 150mm છે. અને �Uોક 225mm છે. 

તે. ં ુ�લીયરંસ કદ 1250 cm3
 છે. તો ઓટો સાયકલ માટ6. ંએર �ટાડંડ, એફ�સીયસંી શોધોુ . 

07 

       

��-5    અ નીચેનાની (યા*યા આપો. 

(1) સકંોચન �વાહ�   (2) સbંcત �વાહ�ૃ  

(3) ભીની વરાળ     (4) સbંcત _કૂ� વરાળૃ  

(5) _પરહ�ટની ડ�eીુ    (6) _પર હ�ટ6ડ વરાળુ  

(7) વરાળનો fLુકાકં. 

07 

 બ સેપર6ટKગ ક6લોર�મીટર �વ�છ આ�િતથી સમ:વોૃ . 07 

  અથવા  

��-5    અ મોલીયર ડાયાeામ સમ:વો. 07 

 બ g ફઝ પhધતી દશા,વોુ 6 . H2O માટ6 `ીપલ પોVટ ડાયાeામ સમ:વો. 07 

 

************ 

 


